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Q:1 I Coto = 1/4/3 T, OIRCe [(2 - sin20)/(1 -
Cos20)] + (cosec?0 + Sech) AF NN PO R(J?
1.4

2.5

3.6

4.7

Q:2 X = cos2B x tan?B + cos?B - 1, Find X.
1. sinR.sec2R

2. - sin’R.sec*R

3. sin’R.sec*B

4. - sin*R.sec?B

Q:3 5 Gtowr (IR 6 amoweaia =i
(AT GI8TRADA BFfo (&= 30°. I
2GFNG GISTAT (AT 403 N 770g
WIZ FA, DO Tthol $9?
1.401X

2.20v3 X

3.30V3 1Y

4,45

Q:4 X, y =T 0 ST, X + y <90° 42 sin
(2x - 20°) = cos (2y + 20°), tan (x +y) A9
P9?

1.~3

2.1/3

3.1

4.2 +\2

Q:5 8 9 NN F9© 2(J, IM cosh + sind = V2
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(0° <8 <90°) RF?
1.30°
2.60°
3.15°
4.45°

Q:6 NHEA® STNIFATIR NH F© =2 2

2 4 2

(sin? x + cos?x — sin® x — sin®x cos?x)/(sin’x cosx +

cos?x)?
1.0
2.1
3.1/2

4.2

Q:7 [(SinB - CosB)(1 + tand + cotB)]/[1 + sinBcosh]
CERICACERET D)

1. sec 8- cosec 8

2.sin6+cos®

3. cosecB-secH

4.tanB-cotH

Q:8 sin2 64° + cos 64°sin 26° + 2cos43°cosec47’®
A9 V[N d9?

1.2
2.3
3.1
4.4

Q:9 Sin?30 cos?45 + 4tan?30 + (1/2) sin?90 -
cos?90 + 1/24 W< $9?
1.3
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2.4
3.2
4.1

Q:10 *¥[~T3IN IV RS :

1.sinA
2.tan A
3.cotA
4.cos A
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REEIR

1.2) 2.(4) B.(4) 4.(3) 5. (4)
6.(2 [7.(1) [8.(2 9.(3) [10.(2)

Q:1 510 T8 = fIFgg 2 Wg 5

Cot60 = 1/V3

N8 (T Cotb = 1/V3

1A, 6 = 60

[(2 - sin8)/(1-Cos?B)] + (cosec?d + Sech)
0 A4 NI AN A(d = 60

= [(2-3/4)/(1-1/4)] + (4/3 + 2)
=[(5/4)/(3/4)] + (4/3 + 2)

=5/3+4/3+2

=9/3+2

=5

Q:2 3 TSAIG = [[Fg 4 =afie
- sin®B.sec?B

faremie

cos2B = cos?B - sinl

sin?R + cos?R = 1

(cos? - sin?R) x tan?B - sin?R

= sin?B - sin’B tan?B - sin?R

= - sin%R tan2R

= -sin?R . sec2B

Q:3 A5 BaA =7 4 WS 45 ]
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TGN DE = 5 W
MOFN 478 BI8MACI VT T AB = CD =

a0v3 X
AT G29I(J Hfa® FA0e A

foaft (TF T8 T
Tan30 = AC/CD

1/V3 = AC/40V3

AC = 40

OIS AB = AC + CB
cB=DE=5Y

So

E‘IGW@H@GWJI =40 +5=45

Q:4 SIfOF Gad e fIdgg 3 WR 1
sin(2x - 20°) = cos(2y + 20°)

sin(2x - 20°) = sin[90° - (2x - 20°)]
2x-20 = 90° - (2y + 20°)

2x +2y =90°

X+y=45°

tan(x +y) =tan 45° =

Q:5 10 B8 = fadgy 4 WIS 45°
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0°<B8<90°

cosB + sind =2

RPg 1:0=30°
Cos30° + sin30°
=\3/2+1/2#2
g 2: 6 = 60°
Cos60° + sin60°
=1/2 +3/2 #2
fAPg 4.0 = 45°
Cos30° + sin30°
=1/N2+1/N2=12
w2, 6 = 45°

Q:6 SIOF bed e fITgy 2 WS 1

sin2 X + cos2x — sind X — sin2x cos2x = sin2 x
+ C0S2x — sin2x (sin2x + cos2 Xx)

= (sin2x + cos2x) (1 - sin2x)

= C0S2X [+ sin2x + cos2x = 1]

sinN2x cos2X + cos4x = cos2x (sin2x + cos2x)
= €082 X [+ sin2x + cos2x = 1]

(sin2 x + cos2x - sin4 x — sin2x cos2x) /
(sin2x cos2x + cos4x) = cos2 x / cos2 x = 1

Q:7 ST Ged =4 fIFg 1 WA sech --cosecd
W e
0 = 30° I

A_¥3, 01 L
(sind@ ~ cosO)(1 4+ tanf 4 cotd) 2 2 V3 v

1 + sinfcost

B v

]0“
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3
A4, [P My 612 FA12,

ﬁ?lT%‘[ 1: Seco - cosech = sec 30° - cosec 30° = 2/43
-2

Sl [Reg 151135 SaA|

Q:8 5if3% Bed = fagg 2 W2e 3

sin2 64° + cos 64°sin 26° + 2cos43°cosec47°
= sin2 64° + cos 64°sin 26° + 2cos43°/sin47°
= sin2 64° + cos 64°sin 26° + 2 x 1

IM x + y =90° XY, OIR(eT cosx/siny = 1 R({,

=sin2 64° + 2 + cos 64°cos 64°

=2+ sin2 64° + cos2 64°

=2+1=3

Q:9 ST GeAMb =4 fIFg 3 W18, 2

Sin230 cos245 + 4tan230 + (1/2) sin290 -
c0s290 + 1/24

= (1/2)2x (1/N2)2 + 4 x (1/N3)2+1/2x1 -0
+1/24

=>1/4%x1/2+4x1/3+1/2+1/24
=1/8+4/3+1/2+1/24

= 48/24

=2

Q:10 ST3% B8 = fIdgg 2 Wl Tan A
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IRVRIRCTIDE

Tan A = SinA/CosA

SinA=__ xCosA

Hodlg,

____=SinA/CosA

____=TanA
ICREEGREY.
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